e

F4xTAERRE (IREER)

g8 112
g £ BB H6 =%

i
% 385 A =

hed feo
b

§4‘4J§] B A 47 A = ~

4]
@48 338 4

PARARNVERDA B(FEAABINAS )T 103§ E RARG -

FE/AY
L S e £ 4 PR 15 wE(F® Hu
2419 pacw | T p rre
# %) %) (o) w5 ) (%)
%)

* FIn 2,491 1,613 31. 87 57. 97 1.05 7.69 1. 43
g er(FR) 3,076 1,903 90. 65 2.63 0.74 4.78 1.21
yoer(iE) 206 125 93. 60 0.80 0.00 2.40 3. 20

SRR T
FE/AY
L SR e £ 4 PR 15 wE(F® Hu
£ 414 wbck | T ; ree
# %) %) (o) w5 ) (%)
%)

< 3w 2,922 1,410 12. 84 16. 88 1.56 6.53 2.2
g er(FR) 3,002 1,571 93. 76 3.37 0.00 2.03 0.83
yoer(iE) 225 125 96. 00 1.60 0.00 1.60 0.8

B1H - 20K




EisT R R EA A
FE/ AT

24 o f s B | E(FE| A

5 4 ag g | 1 - i} "
e %) %) %) vy | )

%)
< B2 2,539 1, 241 86. 14 9.43 0.24 3.3 0.89
Py “r(FR ) 2, 894 1,401 93. 86 2. 71 0.14 1.85 1.43
by () 250 143 97.90 0.00 0.00 1.4 0.70

EE P ’?‘#ii}fkf—ii#—i l#3F#HEALYPEFP 11262 16p 2 112F11 % 9p ok o

F4xTAERRE (INEER)

FER 111
- £ ERE 66 =< >
% 439 « %
AR feoh g
§ . [ﬁ] B A 25 A = ~
4 b
- |8 414 «
Fiso BB EA G
EE /K
EE pE | oE R [REGE| A
415 aaig | 1 - frie
#c %) %) %) %) %)
%)

S E L 2, 490 1,541 32. 06 58. 47 1.10 4.54 1.82
=y oer(FE) |3, 132 1,934 93.54 9.33 0.16 1.65 1. 40
= e () 201 116 89. 66 0. 00 4.31 0. 00 9.59

BE sz 2R EA A
g 4w ¥4 4| AE ALK ﬁ*uﬂ“— £ 4 PR 1% FE/ A Hw

F2H > $20H




X g B X
fi %) %) %) per(z ¥ %)
%4 R)
%

* B3 2, 549 1, 342 76. 30 14. 61 1.79 2.31 3. 20
mroer(FR) | 2,964 1,619 94. 07 3.21 0.06 0.43 1.05
= 3er(H) 196 116 95. 69 0.00 0.00 0.00 2.59

BEsT EREY e
FE/ R
LA MF X PR (R Hw
4]0 T Pt
i %) %) %) H L) %)
%

* B3 2,509 1,186 88. 28 7.00 0.25 1.85 1.85
=g oar(FE) | 2,820 1, 385 96. 03 1.52 0.014 0.07 0.87
=yer(H) 271 144 98. 61 0. 69 0.00 0.00 0.00

B4 xTAERRE (1105 £R)

SR, BEA | E3ESENADEA 111 E£67 1p2 I1&117 9pt o

B ER

i = JEE T8 o

1 458 % =

. B A 4] 4 = -
4 A+ T

’ BA 417 A

S AR R B(E 4 AT FAL D 103 8 & R vty
PR EREA A
B ¥4 ¥ 4 PR iR FE/ A B
5 41 aacw | 1 % SR |
& %) (%) W [ REGE|] ®

F3H > $20H




X - 2B E4 0w
¥ )
(%)
~ B3R 2,522 1,624 34% 55% 1% 9% 1%
3 ar(FR) 3,002 1, 887 90% 3% 1% 5% 1%
B3oar(E) 225 132 92% 2% 2% 1% 2%
BE- g B EA NS
FE/ A8
2 %42 E e PR 1% (512 His
£ 415) ahigk | 1 . spEGE
#c (%) (%) %) %4 (%)
(%)
~ B3R 2,539 1,695 76% 14% 2% % 1%
3 ar(FR) 2,894 1, 897 93% 4% 0.2% 2% 0.7%
Byoar(E) 250 175 98% 0% 0% 2% 0%
BEBT 2R EL NS
EE/ LY
2 ¥4 2 E e PR 1% wE(F2 His
£ 415) ahigk | 1 % spEGE
# (%) (%) (%) %4 (%)
(%)
~ B3R 2,502 1, 389 89% 6% 0.2% 4% 0. 8%
3 ar(FR) 2,887 1,599 96% 2% 0% 1% 1%
Pyoar($E) 290 150 97% 0% 0% 2% 1%

ESR VA

R

ik

p

2 BE2 1 #3E0ERAYAFp 110£67 162 110&11 7% 8p 2k o

B4 kT SERTE (1095 ER)

EER

109

FAH > $20H




L EMER =

«
%374 4 =
Grd ok g
o1 BA 4] A =% -
4 A4
= B4y 331 4
L fbeA R A B(B A AL A )T AL p 103 B & A de st
Xis-F2 ¥4 0w
FE/ A8
B¥a s ¥ o R |mE(pE| Hu
2 4] g im | 1 . frmte
” ) ) ) ) | )
%)

* &R 2,549 1,836 36.33 53.00 1.20 9.26 0.22
F= ;’L" ”'Li'(f-ﬁ) 2,964 2,126 88.15 3.01 1.46 7.15 0.24
7= ;’L" () 196 139 92.81 0.00 2.16 5.04 0.00

s g R EA NS
FE/ A8
¥4 s L R | mE(pE| Hu

2 ) w) agim | = fex s

” ) ) ) ) | )
%)

* &R 2,509 1,639 75.29 13.61 2.14 8.79 0.18
F= ;’L" ”'Li'(f-ﬁ) 2,820 1,747 94 .45 1.77 0.11 3.09 0.57
7= ;’L" () 271 161 98.76 0.00 0.00 1.24 0.00

W iET R EA R
FE/ A8
¥4 s L R | mE(pE| Hu

2 ) w) agim | = fex s

” ) ) ) ) | )
%)

FS5H - $20H




2

¥ E2 ¥4 0w

< B2 2,416 1,428 88.17 5.74 0.63 5.11 0.35
B3 Ar(FR) 2,844 1,559 93.39 2.18 0.06 3.72 0.64
B oar(E) 401 216 97.22 0.46 0.00 2.31 0.00

P F R B XL 1 E3 25 2BAHPFp 109267 15p 2 109 & 11 7 06 p ok o

F4HTAERRE (1085 £3)

B2ER 108

- LERE 4] = >
997 A =%

A R EE
£ 4 m BA 6 A ~

350

= B 91 «

T

P

DR R E RS (B A AR )T 103 § & KAt

BEE-ER LA g
EE PN
2334 ¥ g PR veE(zm | Hu
# 415 ahig | D - fete
# (%) (%) (%) %) (%)
(%)
< g3 2,539 1,737 36.04 54.17 1.32 8.40 0.06
3 (AR 2,894 1,940 83.61 3.20 5.52 7.52 0.15
o) 250 169 90.53 - 4.14 5.32 0.00
BYszEREA
;g;;%/%:'
2gs | ot & T ST
41w BICERE S Pk
# (%) (%) (%) % %) (%)
7 ®

F6H » $20H




BEGBzERES A
(%)

+ g3 2,502 1,597 71.13 13.34 6.83 8.64 0.06
=7 oer() | 2,887 1,775 94.08 2.03 0.39 2.9 0.51
3 (4 290 186 99.46 - - 0.54 -

BEGBTERES A
YRR
gyl | s | 17 = RE I pRGE)SE
£ (%) (%) (%) %5 ) (%)
(%)

S-S 2,604 1,432 88.97 6.49 0.56 3.84 0.14
=7 oer() | 2,948 1,511 95.90 1.79 0.20 1.32 0.79
3 (1) 367 198 96.97 - - 2.02 1.01

U EREE, B LA | E3ESEDEYFTAI08E6" 17p 3 108 & 117 8p ik o
FAHRTIERREZ (1078 ER)
g R 107
A H EEEAI K G716 A =%
A et
&
g4 40 B A4 A=~ EEE 712 4
o ARARAMEADA IFEAABRNRS)THE P 103 5 £ R4St
B 2R ¥ G
FE/A
%2 W B PR 1 F ¥ | B
£ 415 asow| 1 % kL
i (%) (%) (%) (7 &5 (%)
5 3#) (%)

FHTH > #2005




=~ g3 2,509 1,739 38.47 50.09 2.13 9.26 0.06

Py Ar(AR) | 2,820 1,955 78.26 0.92 13.30 7.37 0.15

B yoar(#E) 271 181 93.37 --- 4.42 2.21 0.00

LHszaB %200
HE %
e wE | & R | ERE | HE
F 41w BRI S ) Aﬂ.},
* (%) (%) %) | (FHEH | (%)
i) (%)

< g3 2,416 1,547 66.71 14.16 11.12 7.89 0.13

3 Ar(FR) | 2,844 1,602 93.45 2.75 25 2.68 0.62

g oar(E) 401 239 96.23 - 1.26 2.51 0.00

i#]éi Ei#im‘?’
FE/AR ﬁ‘u
L e ¥ FE -4 PR ¥ His
741 9) aniw | T e
# (%) (%) (o) (7 4 (%)
#) (%)

< g3 2,696 1,439 89.02 5.35 .76 4.38 0.49
3 Ar(FR) 2,934 1,571 94.97 1.97 A3 2.03 0.89
B 3oar(E) 440 208 98.08 - - 0.96 0.96

F8H » $20H

TP FE R RES 1 E3ESERLYF P 107E62 27p 2 107 E 11 % 69 2k o




P

=

F4xTAERTE (1065 £R)

FHIH » $20H

106 5 & B
&4 153
R ) w5 268
B LRAR 567
Hu 249
ERCECIR LSS R :'S EESE A3 & 5 G803 A =&
(5 2 AL BINA) (B A 263 % =& ~ |48 540 £ = )
B 2R ¥ G %
EEEY
x4 4 : ¥Ry
| & ’ n P A 33 f i ’ His
£ 4] ) W | PECE|pE | a2 | oma (gi:@%
i)

* g3 2,502 1,519 | 37.66 | 48.65 5.00 8.63 0.06
Fioer(AR) | 2,886 1,748 | 78.78 1.26 13.22 6.53 0.23
3 oer(1) 290 177 92.09 3.39 4.52

LR SN N R %
FEYE
2544 , ¥Ry
| & ’ A 73 £ i ” H
249 e A H A 7*?4“— g PR (% (5.31:5 H
4

< g3 2,604 1,605 | 70.40 | 10.34 10.59 8.6 0.06
3ot | 2,948 1,523 | 9435 | 243 0.16 2.62 0.46
3 oer(1) 367 193 97.41 0.52 1.55 0.52

BExs7T a2 ¥4 e %
, _ EEYFS #
T2 | BHA N I e N

SR IR ke ' " ¥ aF L ORE R (AT A

#)

< g3 2,569 | 1,278 | 91.16 4.62 0.23 3.68 0.31
F3oer(FR) | 2,850 | 1,341 | 93.74 3.21 0.07 1.86 1.12
o) | 396 149 98.66 0.67 0.67

P FREEE, BEL 1 E3ESEAAYPTA 10667 20p 3 106 & 11 7 6 0 2k o



F4HTAERRE (10558 28)

105 8 # B
S 156
R % ¥ 293
DA Rk G S LHEAR YR 636
His 231
A Fh e A dic EESE 53 9376 4 =
(5 4 3 B8 A) (B4 26 4=~ B4E 350 4 =x)

-2 %4 0w %
FE/A
\ F—J 7 =) A _‘U> 2 s 7 ,ﬁ_ /—bl
g3 e 2 IR 'Y q‘i b8 PR 15 Y H
5 3#)
< g 2,416 1,582 33.94 49.24 7.33 5.06 4.24
BT (R 2,844 1,720 78.20 2.44 10.76 2.67 5.58
3 ar(E) 401 228 90.79 - 3.51 0.44 4.82
BEGZEBES A %
FE/R
Z2x3 4 : ¥Ry
\ F—J e — =) 2 ’\",;: 3 I 7 ,t_‘l_ /—bl
5 %)
< g 2,692 1,518 67.00 12.85 9.95 2.57 6.98
3 AR 2,934 1,577 93.60 2.41 0.25 1.01 2.47
Fyoer() | 440 189 | 9894 | - - - 0.53

I EEREER - 22 01 F e R 2 ¥R ¥4 e N A 106267 -10 % 277 -

FH10H > H£20H




FAERTAERREL (145 ER)

104 8 & B
3 286
R ) B 193
FRLEITWAR K AR 642
Hi 266

il et A

CERRCEYS

EJERE 32 £ {316 A =%

(B4 14 A=~ @A 302 4 =x)

B¥s-EB ¥ e %

FE/A

- SN , %ﬁ%
\ F—J 7 =) A _‘U> 2 s 7 ,ﬁ_ /—bl

g3 e 2 IR 'Y q‘i b8 PR 15 Y H

3 %)
< g 2,604 1,310 34.20 49.54 8.02 6.41 1.83
BT (R 2,948 1,556 75.32 1.74 13.24 6.49 3.21
3 ar(E) 367 169 91.12 - 2.96 2.96 2.96

Bz ERED A %

FE/R

Z2x3 4 : ¥Ry
\ F—J e — =) 2 ’\",;: 3 I 7 ,t_‘l_ /—bl

3 %)
< g 2,569 1,236 68.85 10.44 8.98 8.82 291
= 3oer() | 2,850 1,444 | 9259 | 3.74 0.35 2.15 1.18
3 ar(E) 396 193 98.45 - - 1.55 ---

-2 ER R ES- 2R XA AR AN 104 E80-10 0 2 -

S

-

FIEH > H£20H

1008 F R R EN 2R XA A ET 104 E 90 1] P iET e




FIHTAERRE (1385 R)

103 8 # &
. 154
hfed BB %5 231
PRI RS ER R LHART R 564
# 254
e b A e LEH 32 0 5 364 A =
(8 4 AL BNA) (B * 34 @361 4 =)
BEGE- BB EA (o)
HFE/AE
¥
1| ¥y L W 1 X =) A 2 W 2 n /T;/ —tl:/*;
g 4% LF2 Ak BAE pE a5 PRAL (3w H
#)
* B3R 2692 1152 31.42%  49.65% 6.6% 9.29% 3.04%
=5 (AR 2934 1195 76.40%  2.85% 8.54% 8.87% 3.35%
o) 440 158 91.77% - 3.16% 1.26% 3.8%

Ao 12 FERZE RS AAMNR 10T T P ATHL 01 B EREES L EY
— _&/ﬁra,;};ﬁ?‘(#i o

F12H > H£20H



FAxTAERRE (128 54R)

102 £ R

i3 176

hjed B g %Y 261
BRI S 618
H i 343

WA o B e A B

CERRELTY

EESE 26 KX 0K 292 4 =%
(ﬂ}’k 9 A:'(\]_ﬁl,gg 283 A:»E)

BEG - ERES (3
Faju  BEA A A AHK | i wr  mp CFREPEE .
| == 3 'Lu/ £ i N i . H s
' ¥ (58 % 4 3)
< B2 2692 1152 31.42% 49.65% 6.6% 9.29% 3.04%
p 2 ?L" “r(FR) 2934 1195 76.4% 2.85% 8.54% 8.87% 3.35%
7= 95 f’“r(]‘ﬁf) 440 158 91.77% - 3.16% 1.26% 3.8%

=

D101 BEREZEA e B A 103/8-10 7 igis

E13H o H20H




B4y AEnRt (1001 8£4)

101 £&45
&4 183
hird gl ¥4 B 278
FREETEAIR & B AR AR 739
H 275
Bk A fooh A B YEMR 32 %05 250 A =%
(B 2 ALBIRA) (A 12 4=~ B4 20 % =)
B &R %S (%)

v S . ) FEATRFE y
gan | BES gwi& B BE | ORE (%‘Z%%%Zﬁ) 0o
AL 2436 1027 | 31.1 | 556 14 9.6 2.4
B 4H(AR) 2668 1111 | 80.7 | 43 | 4.1 7.9 3.0
o) 385 145 93.1 - 3.4 35 -

F14H - H£20H




B4 HTAERRE (1008 2R)

100 £ &8

4 134

SR 3 229
Fho LT RA K P o
H 256

LR 36 & 0 G 250 A =%

CER T B9 (B4 20 %=~ B48 16 * =)
%}“# 692
PR 47
By & A
’ ’ B3 451
ek pie 4 e (51) Fe
H @ 150
4 3T 4,068

IR AKRTINEAR) FERE Y- ER AR AT 1018 EFOo P HIRE 98 B

ERLF- Eapdpun Al A A MK AT R A

FISH > H£20H




B HTAERRE (9FER)

9 F iR
& 100
EE LY $3 175
PR A S S LR L 506
# 228
Bt A g e A i LER 45 0 331 A=
(B2 Amne) (A 25 A= -~ @4 306 + =)
i 773
JR % 98
¥ A ,
2xH4 i“‘ ' 377
Jek a4 g (1) H 167
ST 3,884

IR SR TIPEAE08 R ER R Y BB AR 1008 Ao b Hdh s 97 B
E&i?ﬁ*&ﬁﬂfjﬁ?ﬁ'?xm&g@ g;%%%;;\T%&&o

FH16H » H£20H




FIRTHERREL (8FER)

(FAEmmA )

98 KR
i3 97
ER S % 186
Sde L AEY EZ A K EHAR T 514
H —
[ERCEEAR L ALD 5 F2E RS 'S EERE 4] %0 284 4 =%

(BA 26 4=~ BER 15 4 %)

¥ 1,101
PR 1% 209
X 5 LN
i 828
pe e 4 g (G1) Fer
H 406
%4 2,818
IR L KT 97 FERLE- EHEN AT 99/8 T AR E 96 &

EREFE- &mﬂ}i#x,a&gt SR S-S ]

FITH » H£20H

Ak e




E4 T35 RRE: (9T8ER)

97 #4 ( 97.8.1-98.7.31 )
&3 107
ARG BB ES F 3 165
B 221
ERCIER AP 332 gRE 3 M 44 =5 311 A =%
(8 2 ALBA) (B4 32 4=~ B4 279 =)
weF 1,418
FR B 263
WA y
g ¥ed fi A 845
j\i&#fi,‘ﬁ A ﬁi: (;3;) _-,El 18 369
%3 m 2,474

%Eﬁi%“ﬁ¢%%ﬁﬂ4&’ié%%ﬁ§%¢§A&o

FHI8H » 20K



FARVIERRE (96 FR )

96 =& ( 96.1.1-96.12.31 )

3% 77
hied gL ¥ ¥ 130
MR R R SR S LA R L 522
Ho 0
—-4 s} A 3T 4=
Al A R EES A (2 1) (B4 28 <% @I 9 <)
3# 413
PR % 134
¥ A 12
ﬁ#ﬁm&&(aZ) H 82
%3 m 4,495
FER
1. R A Brendidt WAL AL B v JE A5 A die o

2.97 £ & ¥

\?"%Aﬁ;‘:o

4 B Ak

AHEN AR T Az B 84 Aot A7)0 4 A IR LA A

F19H » H£20H




FARVIERRE (95ER)

95 #& ( 95.1.1-95.12.31 )

&3 51
%7 125
EHAR TR 478
H NA

IR TR

1,029 * =
(BrA— 39 A= ~@H— 990 + =)

IT“L»# 847
PR 1 321
o B2 589
REERD A
His 70
% 4 2,607

$20H - H£20H




